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   

 .Kc. 
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 

 
 

 
   , 
 
,, 

[H+]  
       x   c[H+]    
             
  

 
pH  poH 

kw [H+][oH-]   

][][  
[H+][oH-] 

 
[oH-] [H+]    
[oH-]  [H+]  

pH [H+] [H+] 
poH [oH-] [oH-]   
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pH          Shift 

 pH poh   
pH poHpH poH  

poH pH  
 pH [H+] 

pH          Shift 

  
 Hcl                               H2SO4 
H2 Co3  CH3CooH )  

NaoH               KoH 

   NH4oH  Fe (oH)3 

 

 
 
 ka  , 

HNo2 PH  

ca
H 2][ ka  =  

[H+]  
[H+]    

    Ka  
 

ka =   
 
 

 
 

  

, 

[                 ] 

 



 

 3   

  

 

NaoH   
 PoH PH 

[Na=23, O=16           H=1] 
 

[H+] [oH-]
  Na++oH-                             NaoH        

[oH-]NaoH 
NaoH  
 
 , 
 
 
PoH [oH] 

] [, 

             ,  
14 = PoH +PH 

12,7  =  1,3-14=PH 
–PH  PoH  

 
pH[H+] 
pH[,00001] 
pHpoH 

poH –pH – 
 

                  HCl    [H+] 
 

 
  

 
 

 
  

 

  
NaoH  

  
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  

 
 

[,] 

 

[,] 
 

,N2o4
No2   

2No2  N2o4  
N2o4 ,075 / 
        kc=  

                    
 
[N2o4]   ,/ 
][N2o4, 
, –,,  / 
[2No2],,/ 
kc        , 
      

/ 
 

Al (oH)3    Al3+  +3oH- 
ksp = [Al 3+] [oH-]3 

ksp = [-610 ]      3[6- 10 3] 
24- 10  27 

 
A+B            A  B 

,,, 

 
 

 
 

[No2]2 

 
[N2o4] 

[No2]2 

 
[N2o4] 
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 

 
  

 

  

 

 



 



,,

 
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 
  

 
 
 
  
 
 
 
 
 
 
 
  

  

 
 

      
 
 
 
 

 
  
 

  
 

  
 

  
 

 
 
  
 

 
 

 
 

 

 
  


